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If a=log2 and b = log5, write an expression for in terms of a and b.
Solve : log,11 = — 3
Find the solution setof: (a) 3x(x-1)=0 (b)2 2 =18
Simplify :
+3 4 .
(a) 2_32 (b)—-g T3

A quadratic equation is givenas 5 2 -6x +10=0
(i) Calculate the discriminant.

(ii) State the nature of the roots.

If the function f(x) = - 3 - 3 2 + bx+ 5 has a remainder of -2 when divided by x + 2, then

find the value of b.

Make m the subject of the formula in the equation:

Y =

+

+ 2—4

Use quadratic formula — > to solve:

() 22-5x-4=0
(b) 32 +9=20x




